Whitman College 
Econ 407 
Exam 2 
November 9, 1999 

Write all answers in your blue book. Show all of your work. 




1. In 1980 it would have cost approximately $100 billion to close down all of the insolvent Savings and Loan banks in the United States. Instead of having regulators close these insolvent S&Ls, Congress deregulated the Savings and Loan industry and instituted a policy of regulatory forebearance. 

(a) (5pts) Define an insolvent bank. 
(b) (10pts) Why were so many S&Ls insolvent in 1980? 
(b) (10pts) What was Congress hoping to achieve with its policies of deregulation and regulatory forebearance? 
(c) (10pts) Briefly describe the results of these Congressional policies. 



2. (15pts) Consider the articles "Central Bank Independence and Inflation Targeting," written by the Federal Reserve Bank of Boston's Jeffrey Fuhrer, and "Is There A Cost to Having an Independent Central Bank?" written by Federal Reserve Bank of San FranciscoÕs Carl Walsh. What relationship did the authors find between central bank independence and real economic performance? 



3. (a) (10pts) Suppose that we are in the short run, where Keynesians would assume that the price level is fixed. With reference to Keynesian money demand and money supply graphs, describe what the Federal Reserve would do to the money supply if it chose to maintain constant interest rates throughout the business cycle. In particular, what would the Fed do to the money supply in a recession if it followed this policy? Also, what would the Fed do to the money supply in an expansion? 

(b) (20pts) Does the Federal Reserve currently follow a policy of maintaining constant interest rates throughout the business cycle? 
If so, why does the Fed do so? 
If not, what does the Fed do to interest rates over the course of the business cycle, and why? 



4. (20pts) Suppose that you know the following about a hypothetical economy. The economy's production function is Y = K0.5L0.5, where Y equals real Gross Domestic Product, K is the amount of capital employed, and L is the amount of labor employed. 
In 1998, K=100 and L=1600. In 1999, K=108 and L=1650. In 1998 the money supply was 1000. In 1999 the money supply was 1085. Money changes hands on average 10 times per year in order to purchase the Gross Domestic Product. Assuming that the Classical Quantity Theory holds, what was the inflation rate between 1998 and 1999?
